
myF : igjfurpd; Njw;wk; 
     AB2 + BC2 = AC2 

      

     a2 + b2 = C2 

 

     □ABED + □BCGF = □ACIH 
 
 
 
 
 
 
Njw;wk; : 
xU nrq;Nfhz Kf;Nfhzpapd; nrk;gfj;jpd; kPJ tiuag;gl;Ls;s rJuj;jpd; gug;gsthdJ 
nrq;Nfhzj;ij Mf;Fk; gf;fq;fspd; kPJ tiuag;gl;Ls;s rJuq;fspd; gug;gsTfspd; 
$l;Lj;njhiff;Fr; rkkhFk;. 
 
cjhuzk; : 1 
jug;gl;Ls;s Kf;Nfhzpfspd; juTfis nfhz;L a ,d; ngWkhdj;ij fhz;f. 
 
1. 
    tpil 
    72 + a2 = 252 

    49 + a2 = 625 

    49  - 49 + a2 = 625 - 49 

     a2 = 576 

     a = √576 

     a = 24 

     / a = 24cm 

 

2.      Ab2 + BC2 = AC2 

     122 + 52 = a2 

     144 + 25 = a2 

      169 = a2 

      √169 = 𝑎 

         13 = a 

           / a = 13cm 

khfhz fy;tpj; jpizf;fsk; - thuhe;jg; ghlrhiy 

 

ghlk;:  fzpjk; 

juk; : 11 
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thuk;  - 18 



 

cjhuzk; : 2 
1. jug;gl;Ls;s cUtpy; AB = 16cm, BC = 12cm, CD = 15 cm vdpd; AD apd; ePsj;ijf; fhz;f. 
 

 

 

 

 

tpil 

igjfurpd; Njw;wg;gb    ACD apy; 

ABC apy;     AD2 = AC2 + CD2 

AC2 = AB2 + BC 2    AD2 = 202 + 152 

AC2 = 162 + 122    AD2 = 400 + 225 

AC2 = 256  + 144    AD2 = 625 

AC2 = 400     AD = √625 

AC = √400     AD = 25 

AC = 20 

 AC = 20cm     AD = 25cm 

 

(ghlE}ypy; 17.1 gapw;rpia Nkw;nfhs;f) 


